Ratio and Recipes

E;(amp‘e_ I SinPlL ﬂ.aé;o

Tack and Kevin share. 28 sweebs in Ehe ratio 4:3

rasro_c_l:ivdn, How many sweekby dees each bay receive ?

A3 = ) shases
2 B sveeks = 77 slhares

2—72 = | ¢lare
P2 = (| ¢lLare
Tack recew- 4 xa =6

3x a = |12

levin ¢ Ecevin

ExahP(e 2 - Sc'rnp(( Retbio

Alan, Bill and Colin shave £20 in the rabic §:3 :zm,“aav.fj_

How much coes each 60'3 receive ?

S +3 42 < lébf%’{’S

| park = 220 200 = £2

A(Q'\ S—¥2 = é‘o
R:1( 3x2 = £6
Colin T w2 = £<




Examplt. 3 - Simple Ratio

Brass is made From Coppesr and Zine in Ehe vatio §:3,

How much Brags could be made usinzl 4 9q of Qppe/‘)

and how much Zine would be needed ?

Capp—cr 403 = S_fa/‘éS
4'—0 = 83 = [f"*fé

Z""C = quréf - ?x gj = 2’4’3

é43

Example 4 — Simple Ratio

The rakio of mateg Eo €emales n o Hym V’“”*b¢/"'\l'p

Is 724, If there are 32 female h«.m‘:-t/{) Thow mqnj

male members are Ehere ?

F-e_w\u.‘-ts 22. = 4F‘fé'§
32 ,
—= =% = )fafé

M oales -« & = S$6




Example § - Recjpes

Froit pie ingredients £or 4 pesple are as €ollows:
%0 4 P lain € lovs
€0q growmd almonds
G]o‘x so€t brewn Sugal
604 butter
4 ripe peass
Wk'u{ [nﬁre/l’c»é" are V‘C—zvl'feu‘ for & people ?

G s 4—XI’LZ

: “Lin |4
Hvlk’lfll] ﬁ,Uk“L“L( § 5‘]

2

¥o +40 = /203 £ 1our

Lo + %0 = 904 ol mondds
G0 +as = 1354 Sess/
Lo+ 30 o4 bo Her
L+ 2 = C peass

ExlanP\Q 6 — Recipeg

Chocolate Ck,‘p Cookies - Insradicn(-,{ £or |0 cookies

1004 of €leur

c,oﬂ of gugur

$0 ¢4 af marqarine

4oy of chocoluke chips
T eqyqs |

W hak ]nsfgdicnfs aire r‘e:buffe.d 'Fof‘ 2{ wakies?



100 100 +50 = 2504 ot Elowr

(O £ 60 +30 = |Soq okf susar

$O £+ 8506 + 28 = {ij o m«/ja./"me
40 <40 + 20 = IOOS o€ cleoc C.LQ(_{
2 +2 A4 = £ ejs¢




